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2)
T(n)
(2)
1) T(n)=4T(n/2)+n
2) T(n)=4T(n/2)+n?
3) T(n)=3T(n/2)+n?
4) T(n)=2T(n/2)+logn
5) T(n)=2T(n/2)+nlogn
2-3

1) 13, 31, 25, 33, 67, 16, 45

2) - 33,25
«( )
/1G S G
/I C[a,b] a b
dijkstra( v,
S={s}
for(vinV)

DIv] = C[s, V];
while( V-S = ){

w V-S D[w]
S w
for( v in V-S )
D[V] = (
}
return D
}
112 node

I/l parent, leftchild, rightchild
deletemin(2

if (node.leftchild == null){

(

return node.value;

else

T(@)=
5 )
(10 )
D[v]
C s){
);
(10 )

return deletemin(a.leftchild);



1 n
0 n-1 ( 5 )
sort( a){
n=a ;
subsort(a, 0, n);
}
subsort( a, int s, int e){
for( plndex = s+1; plndex < e; plIndex = plIndex+l ) {
if( a[s] < a[plIndex] ) break;
if( a[s] > a[plIndex] ){ plIndex = s; break; }
}
if( plndex == e ) return; //
p = a[pIndex];
i =s; J=e1;
while(true){
while(C a[i] <p ) i = i+l;
while( a[il >=p ) j = J-1;
if( 1 ) break;
swap(alil, aliD):; /7 a[i] a[il
}
( 2 )
}
10 ( 1)( 2)
( 5)

/I Queue FIFO
/1 enqueue dequeue
sort(int [] a){

Queue q[10];

div = 1;
n=a
while(true){
for(i = 0; i <n; i =1i+1){
index = ( 1 )
g[index].enqueue(ali]);
}
if( q[0] == n ) break;

for(i =0, j=0; jJ <10; j = j+1){
while( q[j] is not empty ){
a[i] = qlj]-dequeue();
i = i+l;

div = ( 2 )

2)



8 double insert

deletemin double [] heap int size
deletemin heap
0 ( 5 )
void insert(double value); i value
double deletemin(); I
9 ( 1)
( 2) ( 5)
1 vl, v2 w
1 add
1 contains
prim( v, E){
T={} 7/
q =
v={V }
S={v} //

while( S = V ){
for( edge in E ){
if( edge.vl == v || edge.v2 == v )
g.insert(edge);

}
while(true){
edge = g.deletemin(); // q
if ( not S.contains(edge.vl)) {
( 1 )
break;
}
else if ( not S.contains(edge.v2)) {
( 2 )
break;
}
}
T.add(edge);
S.add(v);
}
return T;



10 divide

(10 )
( )
/l divide groupld
/1 bool mark number, groupld
1 start end start end
current = 0; divide( v, E){
for( v in V ){
visitl( v, E){ v.mark = false;
if( v.mark == true ) return; }
v.mark = true; current = 0;
v.number = current; for( v in V ){
current = current+l; visitl(v, E);
for( e in E ){ }
if( v I= e.start ) continue; for( v in V ){
visitl(e.end, E); v.mark = false
} }
} % v.number
current = 0;
visit2( v, E){ for( v in V ){
if( v.mark == true ) return; if( v.mark == false ){
v.mark = true; visit2(v, E);
v.groupld = current; current = current + 1;
for( e in E ){ }
if( v I= e.end ) continue; }
visitl(e.start, E); }



